Unit 3 Day 3 — Writing Equations of Quadratics

Standard Form of a Quadratic Equation: <F(x) = X x> + Bxt C
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Finding A

For each table below, find the 2nd difference.
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Equation: f (x) = —4x? ' Equation: f(x) = 2x% — 3 Equation: f(x) = 3x?> —2x + 1

Table Talk: What relationship do you notice between the value of A in the equation and the second difference from your table?
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Equation: f(x) = x%> + 6 Equation: f(x) = 2x*> =5 . Equation: f(x) =3x?+4x+5

Table Talk: What relationship do you notice between the value of C in the equation and the y-intercept in your table?

The Value oF C Ghd The \ —ih+cho‘>+ Ih Fhe Tabie are
—the Same.

III. Putting it all Together — Write a quadratic equation for each problem below.

L X f(x) lst+ 20 a) Write the quadratic equation to model the data in the table.
-2 16 /40 _: 5
S =72 Py = 2x2 48
@ ? 1% *-22 Cli b) Put your equation in y = in your calculator
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a) Write the quadratic equation to model the data in the table.
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Practice Problems: Write a quadratic equation that
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